
qm=;+= of]hgfsf] gfd :yfg &]ufgf ljlgof]hg /sd ?= s}lkmot

s

s[lif sfo{qmd tkm{ 
1 Joa;flos t/sf/L v]tL ug]{ s[ifssf nfuL aLp ljiffbL 9';Lgf;s 

g;{;L Knfli^s ljt/)f j*f g+= 7, vfgLufp“
100000.00

2 Joa;flos df}/L kfns s[ifsx?sf nfuL df}/L hGo ;fdfu|L ljt/\)f -
%)Ü cg'bfg_

j*f g+= 7, vfgLufp“

50000.00
3 Knfli^s ^n]n tyf Knfli^s dlNr‚ ljt/)f -%)Ü cg'bfg_ j*f g+= 7, vfgLufp“ 85000.00
4 Joa;flos aif]{ v]tL kmnkm'n v]tL If]q lj:tf/ -%)Ü cg'bfg_ j*f g+= 7, vfgLufp“ 50000.00

5 s[lif{ ofGqLsLs/)f tkm{ :k|]o/ l;s]r/ s/f}tL ljt/)f -%)Ü cg'bfg_ j*f g+= 7, vfgLufp“ 50000.00
6 df};dL tyf a]df};dL t/sf/L t/sf/L aLp ldlgls^ ljt/)f j*f g+= 7, vfgLufp“ 100000.00
7 cfs:dLs afnL pkrf/ ;]n - Ps #/ Ps s/];f af/L_ j*f g+= 7, vfgLufp“ 50000.00
8 j*f :tl/o s[lif{ ;~hfn Joj:yfkg vr{ j*f g+= 7, vfgLufp“ 15000.00

hDdf M 500000.00
kz' sfo{qmd - cf}ifwL vl/b ljt/)f _

1 ufO{ e}l; esf/f] ;'wf/ sfo{qmd -%)Ü cg'bfg_ j*f g+= 7, vfgLufp“ 100000.00
2 afv|fsf] vf]/ dd{t ;'wf/ sfo{qmd -%)Ü cg'bfg_ j*f g+= 7, vfgLufp“ 100000.00
3 au'/sf] vf]/ dd{t ;'wf/ sfo{qmd -%)Ü cg'bfg_ j*f g+= 7, vfgLufp“ 100000.00
4 :yfgLo s'v'/fsf] vf]/ dd{t ;'wf/ sfo{qmd -%)Ü cg'bfg_ j*f g+= 7, vfgLufp“ 50000.00
5 k/lhaL lgoGq)fsf nflu cf}iflw vl/b tyf ljt/)f sfo{qmd j*f g+= 7, vfgLufp“ 150000.00

hDdf M 500000.00

s'n hDdf 1000000.00
v

1 s[lif{ ;*s cfk'g*f*f“ b]lj:yfg df]^/ af^f] j*f g+= 7, vfgLufp“ 100000.00

2

ldngrf]s b]]vL /ftfdftf df]^/ af^f] :t/f]GgtL of]hgf -gfnL sf^\g] 
tyf u|fljn_

j*f g+= 7, vfgLufp“

100000.00
3 ^fsLrf}/ uf]/]^f] af^f] lgdf{)f j*f g+= 7, vfgLufp“ 100000.00
4 ;fd'bflos ejg lgdf{)f of]hgf -;fljs vfgLufp“ $_ j*f g+= 7, vfgLufp“ 100000.00
5 au}rf, rfkvf]nf, cnf}r], lr;fvf]nf df]^/ af^f] :t/f]GgtL j*f g+= 7, vfgLufp“ 100000.00
6 a]b'jf^f]n af]^]ufp“ hfg] zfvf af^f] lgdf{)f j*f g+= 7, vfgLufp“ 100000.00
7 vfg]kfgL tyf l;rfO{ kfOk vl/b )& g+= j*f e/L– j*f g+= 7, vfgLufp“ 100000.00
8 bf]xf]^] kw]+/f dd{t -;fljs vfgLufp“ *_ j*f g+= 7, vfgLufp“ 100000.00

hDdf M 800000.00

1 dlxnf sfo{qmd tkm{  M l(sL hftf] tyf s[lif{ sfo{qmd j*f g+= 7, vfgLufp 100000.00
2 cflbaf;L hghftL tkm{ M ;fd'lxs ef*f vl/b j*f g+= 7, vfgLufp 50000.00
3 cfkf· tkm{ M Gofgf] sk*f lj/t)f j*f g+= 7, vfgLufp 50000.00
4 blnt tkm{ M afv|f tyf nf]sn s'v'/f kfng j*f g+= 7, vfgLufp 50000.00
5 o'jf sfo{qmd tkm{ M v]ns'b tyf h;L{ vl/b j*f g+= 7, vfgLufp 50000.00
6 h]i& gful/s tkm{ M h]i& gful/s tyf czn a'xf/L ;Ddfg j*f g+= 7, vfgLufp 100000.00

hDdf M 400000.00

wfld{s tyf ;f+:s[lts tkm{  

cGo -nlIft ju{_ M 

augf;sfnL ufp“kflnsf
7 g+= j*f sfof{no, vfgLufp“, kfNkf

cf= j= @)&&÷&* sf nflu j8f ;ldltaf6 kfl/t eO{ ufp“ sfo{kflnsfdf k]z ePsf of]hgf÷sfo{qmdx?

cfly{s ljsf; If]q tk{m M

;fdflhs ljsf; If]q tk{m M



1 emfs[ u'kmf dlGb/ lgdf{)f tyf uf]/]^f] af^f] lgdf{)f j*f g+= 7, vfgLufp 100000.00
2 b]lj:yfg dlGb/ dd{t ;'wf/ j*f g+= 7, vfgLufp 100000.00

hDdf M 200000.00

s'n hDdf 1400000.00

u

1 bf]af^f] vfgLufp“ /fgL#f^ df]^/ af^f] :t/f]GgtL of]hgf j*f g+= 7, vfgLufp“ 1000000.00
2 bf]af^f] b}nft'· df]^/ af^f] kSsL gfnL j*f g+= 7, vfgLufp“ 500000.00
3 sd]/] uf]/]^f] af^f] j*f g+= 7, vfgLufp“ 300000.00
4 & g+ j*fsf ;Dk")f{ df]^/ af^f] dd{t ;+ef/ j*f g+= 7, vfgLufp“ 300000.00
5 vq]gL &'nf]vf]nf b]vL rfkvf]nf uf]/]^f] af^f] lgdf{)f j*f g+= 7, vfgLufp“ 300000.00

hDdf M 2400000.00
# ;+:yfut ljsf; tyf ;]jf k|jfx / ;'zf;g If]q tk{m M

1 ;''o{d'vL s[li{f dlxnf ejg lgdf{)f j*f g+= 7, vfgLufp“ 200000.00
2 afnd}qL sfo{qmd j*f g+= 7, vfgLufp“ 50000.00
3 j*f sfof{no Joa:yfkg j*f g+= 7, vfgLufp“ 50000.00
4 :jf:Yo sfo{qmd j*f g+= 7, vfgLufp“ 100000.00
5 ljkt Joa:yfkg j*f g+= 7, vfgLufp“ 100000.00
6 vfgLufp“ dfWoflds ljBfon u|fp)* lgdf{)f -O§f 5fKg]_ j*f g+= 7, vfgLufp“ 100000.00
7 vfgLufp“ cfwf/e't ljBfno sNnfaf/L sIffsf]&f dd{t j*f g+= 7, vfgLufp“ 100000.00
8 b}nft'· cfwf/e't ljBfno sIffsf]&f dd{t j*f g+= 7, vfgLufp“ 100000.00

hDdf 800000.00
s"n hDdf 5600000.00

k"jf{wf/ ljsf; If]q tk{m M


